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M.A. III SEMESTER (Main/ATKT) EXAMINATION, DECEMBER-2021

lekt'kkL=lekt'kkL=lekt'kkL=lekt'kkL=lekt'kkL=/Sociology

PAPER - I

ukrsnkjh] fookg ,oa ifjokj dk lekt'kkL=ukrsnkjh] fookg ,oa ifjokj dk lekt'kkL=ukrsnkjh] fookg ,oa ifjokj dk lekt'kkL=ukrsnkjh] fookg ,oa ifjokj dk lekt'kkL=ukrsnkjh] fookg ,oa ifjokj dk lekt'kkL=
Sociology of Kinship Marriage and Family

Time : Three hours Maximum Marks : 40

Minimum Marks : 14

Note : lHkh iz'u vfuok;Z gSA izR;sd [k.M ds le{k fu/kkZfjr vad n'kkZ, x, gSaA
All Questions are compulsory. Allotted marks are shown each Section.

[k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ Section 'A'

oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u

Objective Type Questions

Q.1 lgh mÙkj pqfu, &
Choose the Correct Answer -

(i) iqLrd fMD'kujh vkWQ ,UFkzksiksykWth ds ys[kd gSa&
Author of the book 'Dictionary of Anthropology' is -

(a) eSdkboj MacIver

(b) ekxZu Morgan

(c) pkYlZfofud Charles Winick

(d) mijksDr esa ls dksbZ ugha None of the above

(ii) cgqiRuh fookg izFkk fdl tutkfr esa ikbZ tkrh gS\
Polygamy is found in which Tribe?

(a) ukxk Naga

(b) VksMk Toda

(c) xksaM Gond

(d) mijksDr lHkh All the above
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(iii) fdl #i esa ifjokj dh izd`fr vLFkk;h gS\
In which form the nature of family is temporary?

(a) laLFkk Institution (b) lfefr Association

(c) la?k Federation (d) mijksDr lHkh All of the above

(iv) fgUnw fookg vf/kfu;e 1955 ds vuqlkj rykd dk izkFkZuk i=
fookg ds fdrus o"kZ ckn fn;k tk ldrk gS\
According to Hindu Marriage act of 1955, after how many years

of marriage can divorce application be given?

(a) ,d o"kZ One year (b) nks o"kZ Two year

(c) rhu o"kZ Three year (d) pkj o"kZ Four year

(v) fookg esa ifjorZu ds lwpd gSa&
Indicater of change in marriage is -

(a) vartkrh; fookg Intercaste Marriage

(b) fo/kok fookg Widow marriage

(c) foyEc ls fookg Late Marriage

(d) mijksDr lHkh All of the above

[k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  Section 'B'

y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u

Short Answer Type Questions

2x5 = 10

Q.2 ifjgkj laca/k D;k gS\
What is Avoidance relations?

vFkokvFkokvFkokvFkokvFkok     OR

oxhZd`r ukrsnkjh D;k gS\
What is Classificatory Kinship?

Q.3 fookg ds izeq[k izdkj fyf[k,A
Write the main types of marriage.
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vFkokvFkokvFkokvFkokvFkok     OR

vf/kekU; fookg D;k gS\
What is Preferential Marriage?

Q.4 ifjokj dks ifjHkkf"kr dhft,A
Define Family.

vFkokvFkokvFkokvFkokvFkok     OR

cgqifrd ifjokj dh O;k[;k dhft,A
Describe Polyandrous family.

Q.5 rykd dh ifjHkk"kk fyf[k,A
Write the defination of Divorce.

vFkokvFkokvFkokvFkokvFkok     OR

HkXu ifjokj ls vki D;k le>rs gSa\
What do you understand by Broken Family?

Q.6 ifjokj O;oLFkk esa ifjorZu ds 4 dkj.k fyf[k,A
Write four causes of change in family system/

vFkokvFkokvFkokvFkokvFkok     OR

oS'ohdj.k D;k gS\
What is Globalization?

[k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  Section 'C'

nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u
Long Answer Type Questions

5x5 = 25

Q.7 ukrsnkjh dks ifjHkkf"kr dhft, ,oa blds izdkj crkb;sA

Define kinship and describe its types.

vFkokvFkokvFkokvFkokvFkok     OR

ukrsnkjh dh jhfr;k¡ fyf[k,A

Write Kinship usages.
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Q.8 thou lkFkh pquus ds rjhds crkb,A

State ways of acquiring mates.

vFkokvFkokvFkokvFkokvFkok     OR

fookg dk lekt'kkL=h; egRo crkb;sA

Describe sociological significance of marriage.

Q.9 ifjokj dh lkoZHkkSfed vo/kkj.kk dks le>kb;sA

Explain the universal concept of family.

vFkokvFkokvFkokvFkokvFkok     OR

ifjokj ds dk;ksZ dh foLr`r foospuk dhft,A

Describe in detail the functions of family.

Q.10 ^ukrsnkjh O;ogkjksa esa nwfj;k¡* fo"k; ij ,d fuca/k fyf[k,A

Write an essay on 'Distances in Kinship behavior'.

vFkokvFkokvFkokvFkokvFkok     OR

o`) O;fDr;ksa dh leL;k,¡ crkb;sA

Describe the problems of old age persons.

Q.11 ukrsnkjh ds izfr ifjofrZr vfHk'kfDr;ksa dk vFkZ ,oa dkj.k fyf[k,A

Write the meaning and causes of changing attitudes towards Kinship.

vFkokvFkokvFkokvFkokvFkok     OR

fookg O;oLFkk esa orZeku le; esa gksus okys ifjorZuksa dh O;k[;k
dhft,A
Explain the recent changes in marriage system.

•••
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